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Topic:- Child Development & Pedagogy (CDP)

1) are the self-fulfillment needs according to Maslow’s Hierarchy of needs. | AT

BT UM BT USIIHH & TR wW-ufd &} smaxgPan g

1. Self-actualization / 3T&-fagayT

2. Physiological needs / T TIRAH ]

3. Belongingness and love needs / Iy oIk @R ot STa=aHan

4. Esteem needs / El_cﬁm

Correct Answer :-

« Self-actualization / 3T&-fagayoT

2) What part of the personality operates on the pleasure principle according to Freud? /

TS & TR, TG RIS U SATRI BT BIF AT YR FaTierd giar a2

1. Ego ideal / 38 3a®i (371 3MgSe)
2. Superego / TRTE (YU

3. 1d/ Ug<H (3MS3))

4, Ego / 318 (37M)

Correct Answer :-

. 1d/ U89 (35

3) What is the time in a child’s life between childhood and adulthood known as? / dTcdTdRIT

3R TIRB AT & §Id U I P Sitd- & I 9T THY gl 82

1. Adolescence / TP RIRTaRIT
2. Menarche / ?Gi |3Qi:|

Page- 1



3. Middle childhood / H& STedTdRIT
4, Puberty / i

Correct Answer :-

« Adolescence / I%Qil?law

4) What is the term given to describe the sudden ‘aha!” moment that sometimes helps us

solve problems? / 3{dT-® “3[gI!” &mmaﬁrmﬁ%ﬁqﬁqwuﬁ%mw%ﬂ‘r
F-weft g8 TrHTai B 56 B A Heg BT 2

1. Flashbulb / FeRT Scdl
2. Insight / 313—??@

3. Observation / 3{cIdH
4. Deduction / TRUMH

Correct Answer :-

 Insight/ Gﬁé@

5) What is the term given to denote the ability of a test to consistently measure what it is

designed to measure? / forel TRteor 5t &mmaﬁﬁ??ﬁaaﬂﬁ%ﬁmaﬁqmmﬁmw
2, O srg=uan @ urvA & fore o feemms = fear man 82

1. Norms / HFGS
2. Reliability / oy g=iord
3. Reasoning / GEg

4. Validity / G&dT

Correct Answer :-

« Reliability / faa=aan

6) Benefits of Inclusive Education are: / JHTARN ﬁT&'IT > A %

1. Develops moral and ethical principles only / Had Hfae R Hifoere Rigia fawid e
2. Increases communication and social skills only / FId GIR 3R IS BIRA delHl

3. Increases acceptance and appreciation of diversity only / SHad fafderdr o W 3R T
CER

4, All of the above / B'CRiTﬂ E3th]
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Correct Answer :-

o All of the above / th?iaﬁ g

7) The urge to provide care and protection to offspring is motive. / STl &I aﬁ‘lﬂ'ﬁ
3R GRET WS H BT 3ATIE SR 81

1. Sex /T
2. Maternal motive / HIq TR
3. Achievement / SUATS

4. Affiliation / Ja¢H

Correct Answer :-

+ Maternal motive / HIq TR

8) Which of Erikson’s stages of psychosocial development results in the virtue of

g%pgtence?/qmq$ﬂmm%ﬁqﬁw1ﬁm Yra=T fasRaa

1. Trust vs. mistrust / TIYRT ST Ay

2. Intimacy vs. isolation / ST S 3T

3. Ego integrity vs. despair / 3@ SRgSdl CEIERENE|
4, Industry vs. inferiority / URSH &9 g

Correct Answer :-

« Industry vs. inferiority / URYH g4 Bl

9) Which of the following strategies cannot be used by a teacher for a mentally retarded

learner? / RRI&® §RT ATRI® ¥U 9 He Riendf @7 & fore Fafeafea § @ fea srd-
Ffa o1 SuaT =Y forar <1 ar 82

1. Breaking smaller tasks into large steps. / B¢ Bied B J s B | [AHIIT BT

2. Presenting the information to learner using visual aids. / €9 TSY &I IonT HR Rreeff (T'FTT) P THBRI
I DRI

3. Involving the learner in group activities. / g Tfafafer & Remff (@) & wnfiya s
4, Providing the learner with immediate feedback. / fRremif (@+R) @1 depTa ufdforar vem &l

Correct Answer :-

» Breaking smaller tasks into large steps. / B HisH BT A CE] B T AU s
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10) According to Good and Power, which category of students are more likely to engage in outbound
activities? / 33T 3N TIAAT & AR, D] & fhg Juft & engeards nfafaltmat o Gau g &t siftre
HYTT B2

1. Social / TS
2. Phantom / m
3. Successful / O A

4, Dependent / ik

Correct Answer :-

o Social / AR

11) Specialized teaching strategy geared toward supporting student’s learning is IBAF

Wram &1 90d #31 F e dur fafkry Rigor worifa Bl
1. Writing /G
2. Scaffolding / TP

3. Reading /UT&

4, Brainstorming / faR-AYT

Correct Answer :-

« Scaffolding / THWHITET

12) Which of the following is not one of the main method of deriving traits? | FFrafatea o 3« aaor
I 1 B g fafr & A v 181 82

1. Hypothetical / UTdb U THD
2. Lexical / QoG

3. Statistical / GiRADTI

4. Theoretical / SGifa®

Correct Answer :-

» Hypothetical / Uldh cUTHSD

13) Which of the following is true about modern evaluation? / 3{T WW ¥ O | Fafafea &
q P AT G 82

1. Summative evaluation / Ethl?ﬂ:fa‘? HFB:I'IW

2. Continuous evaluation / Idd Hedlb
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3. Product orientation / 3G BBl

4. Rote learning / I¢H TG

Correct Answer :-
« Continuous evaluation / Fdd HcATpT

14) Which among the following is NOT the focus in planning and delivering a developmental,
comprehensive guidance and counseling program? / Frafafaa A 3 = ﬁﬂ?'m, EBicd
IR RTRT STHH BT g1 I 3R faaiva F33 & s Hfga =78t dvar 32

1. Financial / fa<iig

2. Personal / SfaaTTd

3. Social / ATATNSD

4. Academic & career / Q&M 3R HRIR

Correct Answer :-

¢ Financial / o<l

15) Who elaborated an enormously complex notion of natural development under a thinly disguised

divinity? / fFa ST A U= fesaar & dgd WiHfd® A 31 U S SIfed YR &1
favga fvame

1. Baldwin / STeSTo
2. Erikson / SN&IH
3. Piaget / oSt

4. Vygotsky / awﬂaaﬁ

Correct Answer :-

. Baldwin/@lv@laq

16) The value of standard deviation in the ‘Deviation IQ distribution’ is: / CEGE aﬁaqﬁaw' A
S fa=rer &7 |1 3:

1.1
2. 15
3.10

4.0

Correct Answer :-

« 15

Page- 5



17) The environment in which children grow up will how they think and what they think

%bout./ﬁwuﬁamﬁaéa%ﬁ%%;a’s PaT ¢ 1 a8 $4 Araar @ R 98 a1 dr=ar
|

1. maintain / AT

2. weaken and disturb / BHSIR 31X TR
3. scare / SXII

4. influence /E[HT@H

Correct Answer :-

« influence / UyIfad

18) Gender division is defined as . /ﬁ‘l"Tﬁ‘l-l'l\_rF-[ﬁ %Wﬁﬂ'ﬁlﬂﬁl—d
fPar T g1

1. Division between male employees and female employees. / Yo% GﬁTQ%ﬂTWW%@a
[CEIEE

2. Biological differences between males and females. /w ﬁﬂ%ﬂ’[@f%éﬁf% 3R

3. Male to female ratio. /Waﬂm\”hm S{UId |

4. The hierarchal roles of males and females within society. / TS & Sfafd W 3R giganst
TargehH  YHepTaf|

Correct Answer :-

« The hierarchal roles of males and females within society. / THTS & 3fdifd oo ok HAfamst ot
UG YBT3

19) What is teaching through deductive method? / IGUEERGIT AR ﬁT&I'UTW %?
1. From macro to micro / Tl I Iﬂ'siﬁ GE2
2. From general to specific / AHI Y fafd d%

3. From specific to general / fafRy 9 9= a@
4, From easy to difficult / 3T q Hfe ddb

Correct Answer :-

« From general to specific / I ¥ a1y a&

20) Students don’t want to learn new concepts which are ./ ﬁ@ et s G

¥ 91 72 srgyrnsii @ Wrew T arEa § |
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1. Ambiguous / SIEINED
2. Intelligible / FfSTTRI

3. High quality / é%ﬂ?

4. Plausible / Tep-TRT

Correct Answer :-

« Ambiguous / e

21) Which of the following statements is NOT true? / BN K Cap ks ) ﬂ't'ﬁ

3?2
1. Some diseases and disorders are a product of inheritance. / P& A7 3R faBR CRIGUR a8l
2. Enriched environment enhances child’s development. / HH dIddRU] = o [ap™ &l deldl % I

3. All genetic disorders can be prevented by taking proper measures. / 3 RId U Hxap It Gﬂﬂaﬁlﬁ‘?
ICEARNEARIEARC IR G ]

4. Children are able to learn more finite skills through play: / T W P HIeAH I 3w aRfd wira
Wi & wem ¥

Correct Answer :-

+ All genetic disorders can be prevented by taking proper measures. / 3 I IUM HRap Gt Gﬂﬂaﬁlai

4RI B AehT o Tha 2|

22) In Piaget’s theory of cognitive development, what is the goal of the ‘Concrete operational’ stage? /

ot & ST fae & Rigia 8, G Sibards Sawir BT d6d 182
1. Operational thought / BIERICACEIN

2. Abstract concepts / Gﬂﬁ SIIYRUMT

3. Object permanence / d¥q fRRRar

4, Symbolic thought / UclibTe® fdaR

Correct Answer :-

o Operational thought / Tfhara® [daR

23) Which of the following is not a concept related to classical conditioning? / fFrafafaa & @ = @t

FaTRIe! FRIfT (RRUfART wgee) S Sdfta saemm T8 82
1. Neutral stimulus / 7e& IE1UH

2. Conditioned response / Hﬂaﬁlﬁ \31—:[@7_1“
3. Shaping / FUur (-‘aﬁlTD
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4. Stimulus generalization / REAl Gk I G|

Correct Answer :-

« Shaping / 0T (AT

24) Each child is unique. This statement refers to the principle of: / U I=IT fgdId g1
g YT ¥ Rigia @) dehfa srar 21

1. Continuity / IREGEG|I

2. Uniform Pattern / Th=Udl
3. Integration / LCa I EEE]

4. Individual Differences / AUfaddh farsrdl

Correct Answer :-

« Individual Differences / Jufddaes farsrdn

25) Similar attributes are combined together by the child to form ./ F
frator & 9= gR1 v 1y I faRivarsit &) e g=mar Srar @

1. Concepts / SIAYRUIT

2. Letters / SI&R
3. Words / R[eq
4, Judgments / 3{THIT

Correct Answer :-

¢ Concepts / SAYURT

26) Children gain a good understanding of scientific reasoning and practice because of

pedagogical approaches that focus on: / &for® =RHIV & fFg R M P FR AT
AFE TH SR AT P ST TUH TR B g

1. Writing skills / TG Fal
2. Scientific ideas / aﬁfﬁ?ﬁﬁﬁlﬁ

3. Communication / §dR

4. Student activity / fammeif ygfa

Correct Answer :-

« Scientific ideas / W R
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Inclusive education is a new towards educating the children with disabilities. /

THTaRh Rrgror, fesaiv g o) Rifda w3 I ez d v 7@ 21

1. Demand / q'\lﬁ‘T

2. Approach / SUNTH (PP
3. Direction / Ielégl (IEQII)
4. Process [ IR

Correct Answer :-

. Approach / SUTTH (PP

28) Ignoring of the learning- readiness would result in ./ SIS - duRar & SueT
¥ Rk W ufvomy 3t

1. Development / fd&r g
2. Maturation / GRT&dl

3. Improvement / YR

4, Frustration / FFRTRI

Correct Answer :-

o Frustration / PRI

29) Self-evaluation by a teacher shows his role as a . | TP R1&/® gR1 W94-geidp- S9®!
I - 2 o 41 5 ]

1. Classroom researcher / H&ll et
2. Reflective practitioner / fdaRRITd gt (Roifdea ﬁ]%QFR)

3. Co- learner / &-TRA&f off @Ff\’)
4, Facilitator / UTRI&®

Correct Answer :-

« Reflective practitioner / foaR=lia afve (Rudfded faewmr)
30) What does the term ‘Dyslexia’ denote? / 'fSTfRIaT g fpd fAR=TUd wear 82
1. Difficulty in taking notes. / :ﬁfﬂ o o dH A |

2. Learning difficulty that can cause problems with reading, writing and spelling. / URa &t EF%T'ITSC S

Ugq, forem 3R ad-t & gorear Uar & gobdl |

3. Learning difficulty with number processing and calculation. / TSI UHRDHI T 3R UM & 1Y dRaq |
I
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4, Specific handwriting disability. / fAfRT¥ fergTae feeidl

Correct Answer :-

» Learning difficulty that can cause problems with reading, writing and spelling. / e &t EI’T%_"H_EC S
UgH, forg STR gt & g Ut o Il g

Topic:- General Hindi (L1GH)

1) TR T H, oRd gU Bt HaI H A BT AR BT 3FIRAT 7 AT1 G UgTHhid iR (et sa
émﬁﬁﬁaﬁ‘lﬁ%)?ﬁum ‘sRrae’ auT SR IReR THaTE B Hid-gr-0id #) dows A1 5T
T HETHTH § o IR ST TR UTRTT §1 $S IR A 399 TR AIE R a6 U1

YRA H TSI T B3 YT Fielt o1l 6 § fheg R 90M § Tpd &1 TANT IR URd 8 g1a1 9Tl YR &
PH-H T Hiaal iR gl A Wpd & TRA & IR W $T HSR URTI U HIRT T =i a1
e R-gR & =i a Ha

fewTera wda 3R TER-TTEY ANRI HY UR B HRA BI HeT10] BT HSR ‘SU-ARTATR, ‘o= 3R
SIS, gR-GY 4XM de UgT |

IRIF T B UTH T TR T YR T IR IR :
URH: "SI’ BT AR §?

1, TG HR T

2. &3 BT TN T HAT

3. & B P BT

4, Ya ST

Correct Answer :-

« g HR oAl

2) M FUE T, e §T Ht $EI B A1 BT AN BT 3FIAT T AT | GAT HgTHid SR (Rt s1a
ém@rﬁﬁaﬁﬁ%)%m ‘ghrrs’ aur SRR IR TRaTel Bt Nif-R-0 B o A1 39
AT FRTHTHT | ot TR ST FWR UfRTET ¥ 1 T IR aY 399 T O1G BR Hhd A

YRE ® T § &5 YIS Sielt ol 381 & foorg R 90§ Wpd &1 TN 9R R § ST 4Tl YR &
PH-B A Hiaal ik fagrl A Wpd & aRA § YR TIfg &1 HSR WRT1 Wi YR &1 g=4 aut
o R-gR & 3= 9 Har)

fewTera uda SR TEY-TeY AR F UR $RP YRA P B+l BT HSR ‘SUT-ARTHNR’, ‘Uddd’ R
“ATa®’, gR-gR o=l a® ugan|

IR TR i UGh? 1 T T U= HT 3R IA13¢ :

URT: R AIfe T HUSR g1 7 farsy yrer & <k w_r?
L H®pd

2. fedl

3. Tt
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4, 3Oy

Correct Answer :-

3) M THM ¥, 1 5T B HoRI R A BT AN BT SFIGT &7 AT 1 AT TgThia R (et &1a
3T Y O 9 qd §) F WeTeran ‘siers’ aun Sl Ikar ATl @1 fid-aR-fdl B a1 39
Sl HETPTed A ot Fdres AgEH golR Ufekaal §1 $© TR df 38 AT 916 $X gd Al

YRA H T | &S YT Fielt o1l 76 € fbeg R 9HM § TXpd 1 TN IR URd H gia1 4Tl YR &
PH-BI A Hiaal iR fagrl = WP & FRA 1 URATT Tifged BT HSR WRT1 W URd &1 g=14 adT
g qR-gr & =it a Ham

fewTera uda olik TeR-TT8Y ANRY &1 UR B WIRA 1 P11l BT HSR ‘SU-ANGHNRY, ‘Gerdar’ 3R
SIS, §R-gR ST q UgT |

ST TR P UGhR H1E IR ¢ U= PT 3w 9154 :
UR: YR H fPa-t HTuTE el &Il 82

1. TdH

2.3l

3. U

4, 3D

Correct Answer :-

4) M T ¥, R §T B oI HI A BT AN DT SFRAT &1 4TI T qeTHhia IR (RRyeT o
1 Y Gt af gd ®) & weTeTed ‘sieras’ aun NSl iReR el Bt fidl-aR-did B dowr A1 39
3T WeTHTe § Pt AT AGRY gWR UfRial &1 $© IR a) $HY INET UG B TP U

YRd H TSI & &S YUY Siell Srel 6t 8 fareg R FHM & Wpd o1 TaRT IR YRd 8T ATl HRd &
FH-H F Bfaal R fgHl 3 TP F TR § YR IR ST HSR WRTI Ui HRd BT =19 auT
o R-g® & o=t a e

fewTera gdd iR TER-TTEY WIRI P UR Hcb HRA BI HI1a! BT HSR ‘SUT-ARTHTR, ‘dada 3R
ST, gR-g¥ ol I Ug Tl

IUY e TRIR I UGh? H1 I ¢ U= $T 30 915U :
U= R FHH T YR H 5T U T TR T 1?2
L H®pd

2. Tt

3. 3Rl

4, ZTH A PIS T8I

Correct Answer :-
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5) RM THM ¥, R §T B $owI X A BT AN BT SFIGT &7 41| AT ggThia g (e s1a
£ @ ) 9 af g B) & weTeT shres’ 9y S IR TRare B fid-m-1d B Fowy A1 T
S TETeTel § $o e JgHd FUR Ufeadl 8 | $9 IRYN al 39 I AT &R 9ad 1

YRA H Hal § &5 YUY Sielt ol 31 & foorg R 90 # 6pd &1 YT R HURd § T ATl YRd &
PH-B F Hiaa) iR gl 3 Wpa & AT & URET TIfe BT HSR WRT1 T HRd &1 a=iF auT
™ qR-gR & =it a Ha

fenTera wdd 3R TER-TTEY ANRI Y UR HIb HRA B Bel-1d] BT HSR ‘SU-ARGETR, ‘== 3R
AT, GR-GR S A Tgl

IR TR P UGhR 1 I T U= HT 3R qA15¢ :

WR: HRA BI BT Ut BT BT YISR gR-g¥ oM b Ugdr?
1. HId STdD

2. B HY-FRAITR

3. Bad Udda

4, URTa T4t

Coract Anower -

. SRl g4t

6) R THM ¥, 1A §T P oI S A4 B AN BT FRAT &7 AT AT HgThd R (gt sra
a1 9 =it <t 99 g §) & HeTeror ‘SREe’ aun SR IAaR THaTEl B ff-aR- 0 B dew A1
341 WeTPTel H pol FHraTey gSY TR Ufeal €1 $© TRN df SHA AT U1e T Febd |

YRA H AT & B3 YTITE Fielt o1l 81 8 freg R 9aM § Tpa &1 WahT IR URd | g1a1 9T YR &
PH-B T Hiadl R gl 3 I33pa & TR § YRR T BT USR WRTI W URT BT G/ a7
g qR-gR & =it aeb e

fenTera wdd SR TER-TTEY AMRI B UR Hh URA B Bel-1d] BT HSR ‘SY-ARAETR’, ‘= 3R
ST, GRGR SR A Ug el

IRIF T B USHY T TR T YT BT IR IR :

w=: ‘sferas’ SR SRy weTwHTan ® Fa frarex frast dfeaar 82
1. 38,000

2. 18,000

3. 28,000

4. 27,000

Correct Answer :-
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7) M 9HM H, oY §T B HowI B A BT G BT SFRAT &7 AT | FATT HETohia ghR (et w1a
391 9 A &t 9 7o 8) & HeTebrer ‘gieras’ qur SRt 9Rar wHarel @1 fél-gr-det B o A1 57
3 TeTETet § $o e ISRy UR UfRal 8 1 $9 IRN af 39S INFT I B 9ad A1

YRA H T | B3 UTTE ielt ol 6 € fbeg RA 90M § Tpd 1 UART IR URd A gia1 4T YR &
PH-HH I Fiaal o gl 7 Tvpd & IR § IR I $T HSR WRTI WS UIRT $T = auT
o™ R-gR & =it a T

fewTera wdd 3R TER-TTEY ARI Y UR B HRA B Bel-1d] BT HSR ‘SU-ARTETR, "= 3R
AT, TR-GX &M AP TGl

IWIT TR P UGHT -1 T T U BT IR TA154 ¢
W= U B B A1 9N 22

1. g7 aamg

2.5 9HY

3. S(TAIHTG JHY

4. DHYRT THY

Correct Answer :-

8) M WHM ¥, 1@ §T ®1 Ho®I B A1 BT AN BT AFRAT 71 YT | AT HeTh a gHR (a1 &1
$u1 9 it 9t 9 g B) F werHTen Sherrs’ qun Sl ¥eR THaTet 1 didt-R-did # Fow A1 57
ST TeTETal # Pt T Ay SR YRl &1 £ TRUT 6f 399 IIHT UG B I9d A

YRT H AT & B3 YT Fielt o1l 81 § fobeg R 90M § Tpd &1 WANT TR URd 8 gia1 3Tl YR &
PH-HH Y Hiaal 3R fagFl 3 Wpd F 9T § YR Tifee $T HSR R IR HIRd &1 o= au
o™ R-gR & =0t ab B

fewTera uda ik TER-TTEY ANRY i UR e WRA 6 Hel-d] BT HSR ‘SU-ARTHNR’, Uedar’ 3R
SIS, GR-GY oM q Ug |

UG T B UGH T TS T U BT I Ia18C :
U IS fas gR1 IR ¢ AR 72

1. gferre

2. BIARS

3. BIR

4. R=gg

Correct Answer :-

9) M THM ¥, ford §U B How X A BT AN BT SFIGT &7 4T | AT TgThia iR (raet &1a
1 9 7 3t 99 g B) & AeTprer Shras’ au SRt 3RaR wHaTe 1 fel-R-He # dowr A1 57
S HETeTedl § $o fUaeR JISEd g9R YRl 8 | $9 IRT af 9 IHFT T B Jahd |
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YRA H T | B3 YT Fielt STl 76 & fbeg RA 9HM § TXpd BT TaRT IR URd & giar 4T YR &
PH-H I Fiaal iR gl A Wvpd & IR § URdla it o1 HsR WRTI UriS URd BT =i aur
o gR-gR & =it 9@ W)

fewTera udd 3R TER-TTEY ATRI $Y UR Bb HRA $I bel-1d] BT HSR ‘SU-ARGETR’, ‘arda’ 3R
A, GR-GX S AP TGl

IUYS TR P UgHR A R T YA HT IR 915 :
US: R B9 A2
1. PYDHR

2. U

3. Ag& 1
4, AT

Correct Answer :-

10) TR 9UM H, foRd §T & $oI B a1 &1 AN BT 3FRAT &7 AT JAT HeTH i §IR (It 1
a1 ¥ it ¥t o gd ¥) & Hereren ‘s’ aur iR AfaR el @ ff-a- N B o A1
3 HeTPTe § Pl RIATPR GET §WR UfRTal §1 o TR af 3HR TR UG B Tha A1

YRA H AT | B3 UTTE ielt STl 6T 8 Fbeg R TTHM # TXpd BT UART IR HR A gia1 AT WRd &
FH-BI1 § Bfaal 3R gl A Ipd F 9 § YR Fife $T HSR HRT1 U HIRd &1 o= aur
O™ - & =it 9 B

fewTer gdd iR TER-TTEY WIRI Pl UR b HRA B HI-1a] BT HSR ‘SUT-ARTHTR, ‘dada iR
AP, GR-GY M % g

UG iR B UGHY 14 TS T U BT SR qe13¢ :
T: IR BT HETHIA 7?2

1. gferm

2. gfeTs

3, SIS

LBTSE

Correct Answer :-

11) R 9UH H, foRd §T o $od B a1 BT AN BT SFRAT 7 AT AT HgTHd 1R (RIPT1 o1
<91 9 7t 3t 9 g B) & AeTprer 'shras’ qur SRt 3a) mHaTdl $1 fél-R-He F o A1 5
I HETHT | T RITe] IS TR TRl &1 T IR At 399 9T A1E IR 99

YRT H T&T A B3 UTTY el A1l I8t 3 g R 90 | Wpd 1 WaRT IR YR & giaT ATl URd &
FH-HH T Al iR gl A Tpa & IR § IR Wit BT USSR WRTI UriS HIRd BT e=iF auT
o R-g% & 3= ao e
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fowTers T SR TER-TT6Y ARRI B TR S HRA B 11 BT HSR ‘SU-ARGHTR, ‘Taer’ 3R
A, GR-GR S AP Ugl

ST TRIIR P UG H1Y IR ¢ U= PT SuX 9d15¢ :
U ‘WIS’ XMeg § HI A1 THH 82

1. 167

2.%8

3. T

4, HHYRY

Correct Answer :-

. HUYRY

12) R 9UMA H, e §T &1 FoI B a1 &1 AN BT SFRAT 7 AT GAT HeTHh i gIR (RrIpT F1ed
A1 9 Y Ot 9 qd ) F wereran ‘sherms’ aun e IRar mRarel @1 fid-aR-fid B s A1 39
Sl HETPTed H Pt FTey AZEH TR Uikl § 1 $© TR df S8 INAT 416 B Fhd A

YR W TS A FS YT el Srell €t 8 g R FHM & Ipd BT TR IR YRd § gaT ATl URd &
PH-HA T Al 3R fagrl 3 Ivpd & IR € YR Tt o1 HSR WRTI Ur=iS HIRd BT i auT
o R-R F 3=t 7% T

fowTera uda SfR TER-TTEY ANRI B UR HXP URA BI BeIA! BT HESR ‘SU-ANTHNR, ‘o’ 3R
SATA®’, GR-gR 4% a ug|

SUYE TR B TeHY 12 TR T U Bl S} Id8T :
TR ST RTeg BT T RTeq; am 82
1. Had 33T

2. had A
3. A [ARTe

4, IRVaa Tt

Correct Answer :-

. SWRIad I

13) R T #H, R g BT Ho B A BT ANN DT AT &7 4TI AT AgTHhia giaR (et wra
<91 9 1 4t ad gd 8) & wereren ‘sfirgs’ aur Skl IR THarel o didl-R-ddt B dow A1 5
ST HeTeTal # ot FeTe? gy TR Ul &1 $© TR 6f 399 IHT UG B 99d A

YRd H TST I B3 YUY Sl A1l It 8 g R 90 & 3pd 1 WA IR YR 8§ g7 ATl URd &
PH-B A Hiaal R fagrEl 7 Wpa & aRY § URET TIfee BT HSR WRT1 AT YR &1 g=F auT
e R-gr & =i ao Ham

ferTera T offR TER-TTeY ARRI ®1 TR HP HRA B 11 BT HSR ‘SU-ARAHTR, ‘dTadar’ 3R
AT, -G G T gl

IUYSd T D UgHR ) D T YA BT @R Ja1sC :
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U=H: (g Wsg ST TR XMeg 1 gRM?
1. fagrdt
2, faarsdt
3. farY

a g

Correct Answer :-

14) R FUM H, R g B $o FR A BT AN BT SEIET &7 4TI AT WgThia e (Rraet sa
a1 At 3t 9 i R) & vereTe Thms’ aun SR iR ATl 1 fif-w-0d o dow A1 34
3 weTeTedl § $ot e JgHd WK UfRmal 81 $9 IRUN af U TN T &R Jod |

YRA H AT | F3 UTITE Fielt STl 76 & fbmg R 90M § Tpd T TANT TR HRT H gia1 U7 | YR &
FH-B Y Hiaa AR fagel 3 WP F TR § URdT TR BT HSR WRTI U YR BT =19 auT
g™ @R-gr & =it 9 Han|

fewTera gd 3R TER-TTEY AWRI HY UR B HRA B BTl BT HSR ‘SU-ARGETR, ‘o= 3R
AT, GR-GR S A uge|

ST T F UGHR 1 D T Y HT S«iR IaIs0 :

UTT: HRA & HIH-HIF H HRAH Ao PT HSR fbaa wR1?
1. 370 9 P13 gl

2. Had Hiddl A

3. dad fagrHl =

4, Bfadl SR fagml Q= =

Correct Answer :-

. Pl SR fagHi gH A

15) TRM FHMA H, or 5T &1 F3 R A7 BT AN BT SFRAT S AT FAF AgTH1a 1o (Rt 1@
A1 Y Gt af gd §) & weTeTed ‘sies aun Sl iReR TRaTel Bt fidl-ar-didl B Fowy A1 37
Sl HgTehTedl § Hol RIeTHe S gwR Uiaaal &1 o IRl af 3« 91T g1g B T

YRT W TST A FS UTTY el Sl 6t & frg R FHM & WRpd 1 TR IR URd § 8T ATl HRd &
DH-H § Hiadi SR fIgHl 3 W¥pa & IR § YR e BT HSR WRTI U YR BT G a1
g gR-gr & =it a Ha

femTera Tda SR TTER-TTeX WIRI 1 UR ST HRA 1 BTl BT HSR ‘SUT-ARAANR’, ‘Tz’ 3%
A, GR-GR SR A UGl

ST T FH UGHT 9 IR T YA BT IR JaTsy :
UH: URA D HEI-A1 fhd! IR T gR o=l P Ugdr?
1. 3T Y DIS T8
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2. feHTera udd iR grRt &=t
3. pad AT udd
4, Had IIRI

Correct Answer :-

16) 3rd siafke § sFd T & @R,
[HE §l TaaTg ol 991 3¢ d9—a3|
TRERTETAE I3 9T 1 T4

3 ft srg—3ih # 3w Bl Tt gt
WAN P TF ITFH MR BT,
T8 79w © o & agw F R av)

IWad TR B UGH I TR WH a1 YR &1 SR qa1s¢l
TR TS-TS A A AT A A 7 2

17) 3 siafver § 3Fd 39 & @S,
HHE B FETg St 961 ¥e T9—aS |
RERTTEE I 331 947 gef It
It sr=u—3ier H 3 gl Tat I
WA P Th § TP MR BT,
Tt 7w & b St Age & ferg wv

SUT Ui P UGHR - UR W a1 WA BT S qa15¢|
U 3Fd BT f9aH Weg T FRI?

1. URY

2. 3[BT

3. Hiffrd

4, 3id

Correct Answer :-
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18) 3rid JaRe # Fa I E @S,
[HE BT TIaTg il 91 W@ 93-S
TRERTTAE I 31 a4T Taf It
3t rzr—3ih # 3rie gl Tt |t
WA P Tr TP MR BFTIY,
T8 7w B o oY vy & R wv)

SWE U= BT UgHR 1K IR WH aTd W= $T 3w qd15¢]
T ... TS UG § DI AT APR 572

1. 398 Y IS Tal

2. GHTIfRT

3. el

4. S0

Correct Answer :-

. STHIDR T

19) 3id siafver § s 3T & @2,
A € TaTg il 9¢71 3¢ T2 |
RERTGAE I I3! 9T ggt I+
3t Srg—3id H 3u® 8 Tgr I
WA P TFITHH AR BT,
a8 wgw ¢ & S Agw & W

SUe Ui $ UGH A TR W1H 9T URH H1 I qa1s¢|
U g’ § 1 BT U Fun 82

1. 30"

2. g0Y Y

3. W0

4, 3fdld o

Correct Answer :-

20) 3d Saler § sada g @S,
[HE § TaaTg o 961 3¢ I8
TRERTEAE I IS8T YT g1 Tt
3l sr=—aids # 3ru® &l gt |t
WA P e ITeH MR BFTIY,
8 7 § % i ugw & Rre W

ST U DI UHR A T T qTel Y= BT 3T a1g¢|
U= 3ARar Weg BT TATIGTE Weg HI9 IT 81 82
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1.4
2.7
3. HIH

4, THHUS

Correct Answer :-

21) 3ia Sfafker § sFa @ ¥ @,
[HE § TaTg o 991 3¢ I9—T9 1
TRERTTAE I 31 94T Tof It
3rft srra—3is # e B wet Tt
WA P rrITeM RPN,
T8 7w § o oY vy & R W

SWT UL P UGH A IR TH 9T U BT I Ja1s¢l
U: DR & P TST 52

1. 9%

2. 3ad

3.¢lHd

4. R

Correct Answer :-

22) 3Hd 3iaikel # 3Fd 9 & @S,
TqUE Bl TaTg o 961 3¢ d8—as |
TRERTTEHE I I3 94T Fef It
3t er=g—gie § o & ger aaft
W A Y 5 Th | 9 B SR FTI,
I8! 7w § 6 < g & Rig R

SUTd TR S UGHR - YD S 9T URH B S Jad1s¢]
U: 39 BT GITIaT eg HI-T AT T81 872

1. adr

2. R

3. ql1d

4.9Y

Correct Answer :-

. 3M9
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23) 3Hd Saf¥e d AT da E WS,
HH B TqaTg Sl 991 6 T9—TS |
RERTEAAWE I 31 a4T Tef It
3t Szg—3ich # 31U gl det gt
WA P Tr FTFH MR BPTIY,
T8 A7 & b ot vy & g wr)

SUE U= P USHR 1K IR WH a1 U= $T S qd15¢|
U=: 49T, GUTg WIS I $el 901 82

1. ]

2.8y

3. &

4.7Mq

Correct Answer :-

24) 3Hd 3fdRe § T d & @S,
[HE Bl TaaTg il 991 3¢ I3 |
RERTTAH I I5! YT get I
Y eru—3id H U 8 ger I
WAN P TFATEH MR BT,
81 7gw § b oY g & Ry v

SUE U $ UGH i UR WH aTd U= B SR Ja1s¢|
WH: <adl [Pus Wrh & e @9 82

1, WUGRI AT &

2. TTOT &

3. W8 &

4. GFd &b

Correct Answer :-

« RUPRI AT &

25) 3 fafvar § i dd & @S,
HHE T FaTg Sl 961 76 I9—TS |
REREAE I I a4T Tef It
3ft sr—3ih # Sruw B Tt gt
WAN P e ATFH MR BTIY,
98 agw § % il s & Rre W

IWE URIIRT B UGH 1d T W1 aTdt U= &1 SR qad1s¢|
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WR: B3 7 TID! TP gIH a4 & g w0 Fe1 8, Fiifr ?
1. TS SHHT 3R Y |

2. TIST T Sia Mt Wil R AR Bl

3. TS BT T & TaTH BT B |

4, AT SATHTRT UToft 8 |

Correct Answer :-

. HTS P SiE ST FgepiRal R R 3

26) 3d JaRe F eAada g @,
Tuef g Tqa1g o) 9¢T 38 go-a3|
TRERTGAE I IS 9T g1 J4
3t er=a—3ip # 3w Bl gt gt
W A4 fr TF A T FH R FTI,
T8 7w & o o v & forg W)

ST U= P UgHR A7 YD SH a1 U= $T 3R qd13¢1
UR: B & AR ‘U B & 92

1, Th-GaR I faRIY |

2. TH-GEN ¥ 31 3|

3. Uh-gak & B 1Y

4, TH-gAX & HIH St 7 Y|

Correct Answer :-

o Th-GEY & B Y|

27) 3Fd 3iaikel | 3Fd 9 § @S,
TqE Bl TaaTg N TET 38 d5—as |
RERTTE I 331 94T Tef It
3t srg—3ir # 3w Bl gt It
B! 7 41 {5 TP | 7 B 3R BT W,
T8 99 § 5 o wgw & g wv)

ST UL F USH A IR SH 9T U™ BT I Ja13¢I
UR: B3 & AR, TS B HAT T A1RT?

1. Had WIUBRI

2. Had GaIq

3, Had HATS B ITd]

4. IIRIad It

Correct Answer :-
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28) 3id JaRe FeAaad @,
[HE B TATG N TGT 78 TS—a3 |
RERTTAE I 331 94T gef It
Y erzu—aie H e gl get I
WA P rrATeM R BT,
T8 vy ¢ & S Agw & ke

ST U $ UGHT A UD TH AT YR BT I qa1s¢l
U= U &1 fpaad fore Si=m =nfge?

1. 3 & o

2. AH P forg

3, @ & feg

4, HaTs & fag
Correct Answer :-

. HaTE & for

29) 3Fd Safke A A da g WS,
[HE Bl TaTg ol 991 3¢ I8-a3 |
TRERTETAE I 3T 9T Fa1 Tt

3 ft srsa—3is # e 8 Tt It
W T 5 TPh I T SR BT,
T8 7w & o i A & Rre W)

SUT U P UGHR e YD SH aTd URH H1 I Jad13¢|
TR TS0 &Y MU H H& Tg7 A1Meu?

1, YR-aR Y

2. SFHFATY

3. faRly ¥

4, G

Correct Answer :-

. HEIRY

30) S AR F sFA AT E TS,
[HE B TIaTg o 9T 3¢ Te—as|
RERTETAE I I 94T Tef It
3ft srr—3ih H 3w B Tt gaft
WAN P TF TP MR BTIY,
8 7w g 5 o ngw & ferg wR)
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STT Ui P UGHR - IR W1H a1 WA BT S Ia1s¢|
US: U Uil & AIAH & S T G- ST 9181 872
1. TRIYHTRET

2, foreaTiRya

3. Fefar

4. ST

Correct Answer :-

Topic:- General English(L2GE)

1) Fill in the blank with the correct optionin the given sentence:

When many people move together, they are said to make a --motion.
1. ani--

2. auto--

3. loco--

4, com--

Correct Answer :-

2) Read the poem carefully and answer the question given below:

The air breathes frost. A thin wind beats

Old dust and papers down gray streets

And blows brown leaves with curled-up edges
At frightened sparrows on window ledges

A snowflake falls like an errant feather,

A vagabond draws his cloak together

And an old man totters past with a cane

Wondering if he'll see spring again. -By Joseph M. March
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Who is a vagabond?

1. Someone who wanders from place to place offering people jobs

2. Someone who wanders from place to place without a home or a job
3. Someone who wanders from place to place looking for a job

4, Someone who wanders from place to place helping others

Correct Answer :-
« Someone who wanders from place to place without a home or a job

3) Read the poem carefully and answer the question given below:

The air breathes frost. A thin wind beats

Old dust and papers down gray streets

And blows brown leaves with curled-up edges
At frightened sparrows on window ledges

A snowflake falls like an errant feather,

A vagabond draws his cloak together

And an old man totters past with a cane

Wondering if he'll see spring again. -By Joseph M. March

What do you think the sparrows are frightened of?

1. The chilly wind
2. The vagabond
3. The leaves

4, The old man

Correct Answer :-

o The leaves

4) Read the poem carefully and answer the question given below:

The air breathes frost. A thin wind beats

Old dust and papers down gray streets
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And blows brown leaves with curled-up edges
At frightened sparrows on window ledges

A snowflake falls like an errant feather,

A vagabond draws his cloak together

And an old man totters past with a cane

Wondering if he'll see spring again. -By Joseph M. March

Which part of the year do you think it is?
1. Early autumn

2. Late spring

3. Late summer

4, Early winter

Correct Answer :-

« Early winter

5) Read the poem carefully and answer the question given below:

The air breathes frost. A thin wind beats

Old dust and papers down gray streets

And blows brown leaves with curled-up edges
At frightened sparrows on window ledges

A snowflake falls like an errant feather,

A vagabond draws his cloak together

And an old man totters past with a cane

Wondering if he'll see spring again . -By Joseph M. March

In what manner does the old man walk?
1. With difficulty

2. Briskly

3. Angrily

4, Slowly

Correct Answer :-
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« With difficulty

6) Read the following passage and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He
built the water clock and an instrument to find out time with the help of shadows. Little Newton
was also interested in painting, collecting flowers and plants.

In 1665, he graduated from Trinity College. His contributions are the following: Differential and
integral Calculus and Binomial Theorem. Newton also proposed the three laws of motion, i.e. An
object moves only when force is applied; Every action has an equal and opposite reaction; and
Every particle in the universe is attracted by all other particles. Newton devoted his life to
science. ‘Principia Mathematica’and 'Optics’are the famous books of Newton. He passed away in
1727 at the age of 85.

Which college did Newton graduate from?
1. Harvard

2. Oxford

3. Stanford

4. Trinity

Correct Answer :-
o Trinity
7) Read the following passage and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He
built the water clock and an instrument to find out time with the help of shadows. Little Newton
was also interested in painting, collecting flowers and plants.

In 1665, he graduated from Trinity College. His contributions are the following: Differential and
integral Calculus and Binomial Theorem. Newton also proposed the three laws of motion, i.e. An
object moves only when force is applied; Every action has an equal and opposite reaction; and
Every particle in the universe is attracted by all other particles. Newton devoted his life to
science. ‘Principia Mathematica’and 'Optics’are the famous books of Newton. He passed away in
1727 at the age of 85.

Which fine art was Newton interested in?
1. Music

2. Painting

3. Drawing

4., Dance

Correct Answer :-

» Painting
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8) Read the following passage and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He
built the water clock and an instrument to find out time with the help of shadows. Little Newton
was also interested in painting, collecting flowers and plants.

In 1665, he graduated from Trinity College. His contributions are the following: Differential and
integral Calculus and Binomial Theorem. Newton also proposed the three laws of motion, i.e. An
object moves only when force is applied; Every action has an equal and opposite reaction; and
Every particle in the universe is attracted by all other particles. Newton devoted his life to
science. ‘Principia Mathematica’and 'Optics’are the famous books of Newton. He passed away in
1727 at the age of 85.

How could one find the time of day with the instrument that Newton had invented?
1. By means of sunlight

2. By means of moonlight

3. By means of a pair of arms

4. By means of shadows

Correct Answer :-
» By means of shadows

9) Choose the appropriate pronouns for the given sentence.

When was a young girl, ____ mother taught how to read.
1. he, his, him

2. they, their, their

3. she, her, her

4, it, its, its

Correct Answer :- )

o she, her, her

10) Fill in the blank with the correct option from those given below:

Always insist on speaking to the in case of any arguments with the staff.
1. managerial

2. managing

3. management

4. managers

Correct Answer :-
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+ management

11) Fill in the blank with the correct option in the given sentence:

The ____ shown by the newly elected leader was extremely farced.
1. humbled

2. humble

3. humbling

4. humility

Correct Answer :-
e humility

12) Which of the following options best combines the following sentences?
The examination was over. The children were happy.

1. As the children were happy because the examination was over.

2. Happy were the children and the examination was over.

3. The examination was over and the children were happy

4, The examination being over had the children happy.

Correct Answer :-
» The examination was over and the children were happy

13) Choose appropriate articles for the given sentence:

leader had initiated ____ fund raising campaign for____ downtrodden.
1. no article required, the, the
2. A, no article required, the

3. The, a, the

4. The, an, no article required

Correct Answer :-

¢ The, a, the

14) Choose the appropriate option that rewrites the given sentence in its passive voice.
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Rajendra Chola smites the enemy in the battlefield.
1. The enemy is smitten by Rajendra Chola in the battlefield.
2. Enemy was smite by Rajendra Chola in battlefield.

3. Rajendra chola smited the enemy in battlefield.

4. The battlefield was smitten by Rajendra Chola.

Correct Answer :-

« The enemy is smitten by Rajendra Chola in the battlefield.

15) Choose the appropriate synonym for the highlighted word in the given sentence.

The fruit of one's toil helps others to continue with the mission.
1. achievement

2. hard work

3. sufferings

4, entertainment

Correct Answer :-

¢ hard work

16) Choose the appropriate tenses to fill in the blanks in the given sentence:

My father home a few minutes ago and

1. has left, isn't returned
2. had left, hasn't return
3. left, hasn't returned

4, leaves, isn't returning

Correct Answer :-

o left, hasn't returned

17) Choose the appropriate antonym for the highlighted word in the given sentence.
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You should not be so stern in your approach.
1, strict

2. hard lined

3. flexible

4, kind

Correct Answer :-
o flexible

18) Choose the appropriate conjunction for the given sentence:

I am unwell, I can't attend college today.
1. because

2. hence

3.s0

4, since

Correct Answer :-

19) Choose the appropriate prepositions for the given sentence:

He showed a marked distaste politics his tenure.
1, to, with
2. towards, onto

3. in, around

4, for, during

Correct Answer :-

« for, during

20) Choose an appropriate modal for the given sentence:

The lady standing next to me in the queue asked, ™ I use your phone please?”
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1. May
2. Will
3. Will

4, Can

Correct Answer :-

21) Choose the option that best explains the highlighted expression:

I've been beating my brains out trying to think of a way of getting the money to her in time.
1. trying to reach a solution

2. hitting my head hard

3. running from pillar to post

4, eagerly waiting

Correct Answer :-

 trying to reach a solution

22) Choose the option that best transforms the sentence into its Indirect form:

‘They should put traffic lights here; otherwise there’ll be more accidents,’ she said.

1. She remarked that by putting traffic lights, there would not be more accidents.

2. She said they should put traffic lights there; otherwise there would be more accidents.

3. She said that they should be putting traffic lights here; otherwise there can be more accidents.

4. She was saying us to put traffic lights here; otherwise there’ll be more accidents.

Correct Answer :-

» She said they should put traffic lights there; otherwise there would be more accidents.

23) Choose the option that substitutes the given phrase appropriately.

Very unhappy, bad tempered and silent

1. Sad
2. Dull

3. Morose
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4. Gloomy

Correct Answer :-
* Morose

24) Read the sentence carefully and choose the option that has an error in it:

Although he had scaled many of the world's tallest mountains, he was still looking for more taller
peaks to climb.

1. Although he had scaled
2. more taller peaks to climb.
3. many of the world's tallest mountains

4, he was still looking for

Correct Answer :-
* more taller peaks to climb.

25) Read the sentence carefully and choose the option that has an error in it:

No other quality is more important to acquire for a scientist as to observe carefully.
1. No other quality

2. for a scientist

3. is more important to acquire

4. as to observe carefully.

Correct Answer :-
» as to observe carefully.

26) Change the given statement to indirect speech.
"I can’'t come to the party on Friday,” she said.

1. She said I couldn’t come to the party on Friday.

2. She said she can’t come to the party on Friday.

3. She said that she can’t come to the party on Friday

4. She said that she couldn’t come to the party on Friday.

Correct Answer :-
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+ She said that she couldn’t come to the party on Friday.

27) Fillin the blank with the most appropriate preposition in the given sentence.
Where can we go the movie is over?

1. after

2. before

3. below

4, under

Correct Answer :-
o after

28) Fill in the blank with the correct option in the given sentence:

Water consum-- has been particularly high this summer.
1. --ption

2. --ers

3. --ed

4, --ables

Correct Answer :-

29) Choose the right tag:

As soon as they saw the boss they panicked and started running in all directions,
?

1.isn't it
2. weren't they
3. didn't they

4. do they

Correct Answer :-

« didn't they
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Read the following passage and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He
built the water clock and an instrument to find out time with the help of shadows. Little Newton
was also interested in painting, collecting flowers and plants.

In 1665, he graduated from Trinity College. His contributions are the following: Differential and
integral Calculus and Binomial Theorem. Newton also proposed the three laws of motion, i.e. An
object moves only when force is applied; Every action has an equal and opposite reaction; and
Every particle in the universe is attracted by all other particles. Newton devoted his life to
science. ‘Principia Mathematica’and 'Optics’are the famous books of Newton. He passed away in
1727 at the age of 85.

When was Sir Isaac Newton born?
1. 1642
2. 1640
3. 1650

4. 1648

Correct Answer ;-

Topic:- Social Science (SSC)

1) What do you mean by ‘Eurytherm’ organisms? / “qg?mﬂ" (q:&uﬁ) il & ST T ‘FI'H%I?[ %'?
1. It does not need oxygen to survive. /@Wﬁﬁ% ﬁfq SIS D T qﬁiﬁ?ﬂl

2. It is able to tolerate a wide range of altitude. / Ug 3 Ell'st Gl Uh ]%ET‘[ %J_’@T’IT@ WW pij
e BT g |

3. It is able to tolerate a wide range of PH value. / dg PH HIH o ﬁﬁﬁ?ﬁrﬂ DI Ug H ° T
g gl

4, It is able to tolerate a wide range of ambient temperatures. / g giRaeh IaHHl Bt Uh ﬁﬁﬂ
ST ] g H B Y& g1 2l

Correct Answer :-

« Itis able to tolerate a wide range of ambient temperatures. / g AR dIHE] Bt U ﬁﬁﬁ
4T DI g B | Y& BT 8l

2) Which of the following was/were common to both Buddhism and Jainism?
1. Avoidance of extremities of penance and enjoyment.
2. Indifference to the authority of the Vedas.

3. Denial of efficacy of rituals.
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Fraffa ¥ @ o9 dig o ofie 9= ol Gt & o = ur?

1. TORIT 3R URT B TRY HHAT A T2

2. 351 & AfUBR & Ui SgRit=ar
3.38MI @ TUTTHTRAT | STPR

1.1 only / dd 1

2.1and2/1Td2

3.2 only / hdd 2

4.1,2and3/1,2Td 3

Correct Answer :-

« 1,2and3/1,2Td3

3) The position if the sun, the earth, and the moon are in straight line is called: / ?Iff, E[QEﬂ 3R
o 3 el Y@ 7 g W fRufa 7 wer W 8:

1. Cliff / foq

2. Conjunction / ﬂﬁf

3. Seiche / STAGIET JTE(

4. Syzygy / gfafagfd fog Rrersfor

Correct Answer :-

- Syzygy / gfafagfa faig s

4) The celebrated monarch known by the epithet "Devanamapiya Piyadaasi” was: /m LI
Y IuTfy “Saer U fie=it = & o W 3

1. Kanishka / -

2. Ashoka / 3RIT®

3. Chandragupta Vikramaditya / Ss]t fash TG
4, Akbar / HhaR

Correct Answer :-

« Ashoka / 3fR1®

5) Kanishka’s rule extended over Afghanistan and part of north India and he had
established two capitals, One was Purushapura. Which was the other? | BfTH BT
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M BIRAT SR SR URA & fee IR favega o1 3R 39+ gf Irerefrat &1
RTAT o1 Y, o 3 e < geugRT | gt w1 3 i

1. Taxila / &I
2. Mathura / HYXT

3. Pataliputra / UI?Fﬂﬂa

4. Sakala / HhTdTl

Correct Answer :-

» Mathura / HYT

6) Under which dynasty, earliest inscriptional information on land grants is
provided? / {6 Io1a=r & siqfa, YA g™ IR a9 UyH Riardd aHR geH &1
STl 82

1. The Mauryas / o
2. The Satavahanas / Hlddlg
3. The Sakas / R

4, The Guptas / [t

Correct Answer :-

o The Satavahanas / dlddlg+l

7) The Minimum Support Price was introduced in India in the year L/ gAdH

9T g YR d a4 T o o T U
1. 1964
2. 1984
3.1974

4, 1954

Correct Answer :-

« 1964

8) What is a favourable balance of trade? / TR BT Y AP Q:I'Cja:[ T %?
1. Exports equals imports / fraia Smard & SRIeR %

2. Exports must be greater than imports / fafa smara ¥ Sifd® g ElIRY
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3. Increase quotas / CAG| Er1Y
4, Imports must be greater than exports / frafa ot KL T 3aTd Y g ElIRY

Correct Answer :-

« Exports must be greater than imports / frafa smard 4 sif® 8= By

9) aimed at providing credit or loan and other facilities to the small and marginal
farmers, agricultural labourers, artisans and small entrepreneurs in rural areas. /

BT IERT UTI0T & | SIS 3R Hwid feamt, HiY woigRl, PRIRY 3R Sie Igfial &1
BT AT BT 3R 3T AU TS HT 3|

1. The Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / na’mrﬁ%ﬁﬂgﬂumﬂm
RISHTR TTRET SRR (HA)

2. Prime Minister Rural Development Fellows Scheme / FUTHHAT ATH0T fabrT thal Aot
3. The Rural area Regulatory Board / Tt & e are
4, The Regional Rural Banks / =ity urtT §

Correct Answer :-

« The Regional Rural Banks / &= mior e

10) What type of stream pattern develops on a dome type area? / 59 PR BT 3MUyarg Yo+
Tee & UPR & &7 # Rl g 82

1. Radial / 3R1T (f&TQ)

2. Parallel / JHHIIR

3. Dendritic / GHIhIAD (J&TPR)
4. Trellis / SITCAT

Correct Answer :-

. Radial / 3R1T (STa)

11) In which river valley hominid fossil has been discovered in India? / HIRd H foa =dt

é A giftifers oftarzd & @ie &1 7 82
1. None ofthese/s:lﬁﬁﬁg:lgf
2. Ganges/TiTlT

3. Indus / ﬁﬁ}{
4. Narmada / qﬂiﬂ
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Correct Answer :-

o Narmada / '—'leT:'J

12) Who reviews the distribution of revenues between the State and Local Governments on
the one hand and between rural and urban Local Governments on the other? / T 3R I

IR YT TWHRI & S 3R g SR UrH0r iR 68 RUFR IRSRI & di9 o
& faavor B Aeien 9 Har g2

1. District Finance Commission / foTetT fa=t ST
2. Union Finance Commission / &g < ST
3. State Finance Commission / I1o4 o= S{INT

4. Zilla Parishad / forer uRwg

Correct Answer :-

« State Finance Commission / Jd fa 3RIRT

13) Who is the head of the Indian Republic? / HIRATT VTG & WA P 82

1. President / Tl'gqﬁf

2. Prime Minister / GUTTHAT
3. Parliament / 939G

4. Judiciary / <TIUTIerehT

Correct Answer :-

o President/ ?quﬁf

14) Who is the author of “Deschooling Society”? / )| '\‘TI%I‘T @'\‘l’lg'a" P AGP B %:?
1. John Locke / ST @i

2. Jacques Rousseau / g =1

3. Jean Piaget / S foars!

4. Ivan Illich / 3T Sferd

Correct Answer :-

« Ivan Illich / $aF $fera
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Who said that, “Non-alignment is more or less a residue of historical circumstances, we
cannot align ourselves with the West, with its colonialism, and there is no question of course

of joining the Soviet bloc”. / fFa FgT foh, “TefRuerar, T SfasTiRre ufkfRufawl &1
3P IT HH IRV B, §H ¥4 B IUARIGIG a1 UiH & HIY SiS el Ibd, 3N
aifaae 17 & e 819 1 ®is Tara g =g 817

1. Nehru / 5162?
2. Krishna Menon / W[ o
3. Tito / feel

4, Nkrumah / <@ HIS

Correct Answer :-

+ Krishna Menon / W[ o

16) Who is the overall in charge of the efficient and fair conduct of elections in the

concerned constituency? / Hafd IECIEE R i{:na’r & DA 3R FFroger Tare & TH
AU I &2

1. Polling officers / HAGH BRI
2. Returning Officer / fata= (Refm) ifder
3. Presiding officers / YIS TUBRY

4. Visiting / 3IRIJPH

Correct Answer :-

« Returning Officer / Fara (Refm) S

17) Who was known as “Hazar Dinari”? / "gvlI<¥ ﬁ:ﬂﬁ" & ETUH ﬁ:f CIEEIGRK
1. Balban / dcfdq

2. Razia / IS/

3. Mallik Kafur / Tfcld HTHR

4. Tltutmish / SecTH=T

Correct Answer :-

. Mallik Kafur / Hfcie BHIHR

18) Finding the relation between “altitude” and “temperature” with the help of given

examples happens in which approach? A T-1 LA 5 oTl B Hgg I "t‘s"a—tlﬁ" 3R
"ATTHATE" & d FdY BT UdT @1 59 SURTH A §laT 8: -
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1. Concentric / Jobigd

2. Chronological / m
3. Inductive / SNTHATHD

4. Deductive / FFTAH®

Correct Answer ;-

o Inductive / ARTHATHD

19) In a Parliamentary form of executive it is essential that the Prime Minister has the

support of the majority in . /m Wﬁﬁ’rﬁu‘s’ W% % gurH=R &t
IgHd BT 99d HEl

1. Rajya Sabha / XIGIHHT

2. Parliament / 999G
3. Lok Sabha / @l gHT

4. Vidhan Sabha / faum=gyT

Correct Answer :-

« Lok Sabha / SI@THT

20) Receiving, responding, valuing, organizing and characterizing are the levels of which of

the following domain? / TG BT, UfAferar 41, A BT, SHafRId HT 3R aufq
P15 ST & TR 8:-

1. Affective / HIATHD

2. Revised Taxonomy / Tnfer o
3. Psychomotor / H: RSP

4. Cognitive / GIHIH®

Correct Answer :-

o Affective / HIdTHD

21) During the Mughal rule which of the following traders came to India first? / Il R

& SR FFrufafad & Q $19 91 AR} ugd HIRd 3T 12
1. English / 30T
2. Danish / ST
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3. Dutch /&9

4, Portuguese / ﬂ?f"'l'l?’ﬁ
Correct Answer :-

« Portuguese / W

22) is a system of government in which the power is divided between a central
authority and various constituent units of the country. / TXHR Bl U JoTTel %
R O &) T $EIg WIS 3R 37 B AR ges soreal & drg i e
STar 81

1. Decentralization / fadp=5 BT
2. Centralization / BGIHRUT
3. Federalism / 99dIg

4, Democracy / S-Ida

Correct Answer :-

« Federalism / §9dIG

23) is a process that involves the assembling, storage, transportation, packaging
and distribution of different agricultural commodities across the country. /

ufepar ¢ fored 3w wR & fafte ofY axgail & Haie, Ysror, uiagH, ﬁ%ﬁmsﬁv
fare=or wfrer g €

1. Rural development / PICIURCEIR]

2. Rural marketing / PICIUACELG

3. Agricultural marketing / qv_ﬁf fauue

4. Agricultural networking / Qﬁﬁ g

Correct Answer :-

. Agricultural marketing / ST fUUH

24) The Planning Commission was set up in ./ TISTHT ST Bt RITIAT H
1S A

1. 1960
2. 1940
3.1950
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4.1945

Correct Answer :-

« 1950

25) The evidence of pit dwellings have been discovered from which of the following Ancient

Indian sites? / FrafRad & 9 f5=1 wri= YR Rl § Tafaril & yHm0r @1 @i 83 872
1. Lothal / QIS

2. Burzahom / (g1 H

3. Ropar /TS

4. Kalibangan / BT

Correct Answer :-

« Burzahom / Qﬁ?ﬁ'ﬂ

26) The most prominent challenge faced by a social science teacher is: / TrTfore fagm=

e & TRE Gad ugd g gl 8
1. Inadequacy of text book and handbooks / YIS Y 3R L\J,Ir:t\ddﬂ&ﬁ DI SO

2. Inadequacy of in-service training programs / HATHTI UIRTET0T HRIHH! B ST

3. Lack of proper evaluation tools and techniques / 3ferd b SUBRI 3R Ih-Nieh! BT 3IHTT

4. Insufficient time to attain long-term objectives / HRERINED B%Q’j [ 1 U1t & e Kiepuivg}
qHg

Correct Answer :-

« Insufficient time to attain long-term objectives / [LCAINCY G%Qfl [ 3t it & forg Koajivg)

27) The most suitable approach to promote interactive environment in social science class is:
| AT fIT &1 HeiT § IRER aleredd URa< & 9e1dl ¢+ & o Jad Sugat
BT 7

1. Frequent testing / f1c TRI&f0T

2. Showing documentation / SIS G
3. Lecture and explanation / SRS 3R WPTHI]
4, Cooperative learning / EHRI HITH

Correct Answer :-
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« Cooperative learning / TEhRI ST

28) The method of inquiry-based learning which gives students time and support, they can
pose original question and investigate through their own methods is known as: / SIid-

e SiftRTH &Y ugfar oY B & T 3R Tud uer w8, o 3 ga uy &1
3T AP T4 & dRIh] P HILH | S B 8, DI 1+ S =9 § SH1 ST 8-

1. Structured inquiry / BREGEIE]

2. Conformation inquiry / fawgur S
3. Guided inquiry / e IR Sirer

4, Open inquiry / QT*F[ S

Correct Answer :-

« Open inquiry / ngﬁ e

29) The Village and Small Scale Industries-Committee are also known as /U

ARagIEAffd®_ FwEud WSSl
1. Desai Committee / aﬂ'l—sc gffa

2. Krishnan Committee / I et

3. Karve Committee / 19 AT

4. Rao Committee / Td Ifcl

Correct Answer :-

« Karve Committee / ﬁﬂﬁlﬁ

30) The method that does not help to develop critical thinking skills among the students is: /

a8 faf¥r sit ol & die Aecayu! 9 Pt e FA A Agg gl dale,  ©1
1. Rote learning / 3 fafer srfeem

2. Project based learning / ARG TR SfeRTH

3. Collaborative learning / FEINTYU! S{fORTH

4. Self-regulated learning / ¥d-fAfAEd i

Correct Answer :-

- Rote learning / R fafer 3ifeeTg
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The demerit of problem solving method is: / HIT frarur fafar @t SIqIUT gl

1. It is purely individualistic in nature. / g W " ﬁ’-‘{i&' =0 OH'I’OTddIQﬁI %I
2. It brings affective changes. / dg HhRIHD RadH arar %I

3. It does not help in easy assimilation of knowledge. / Ug T+ DI ST T ST R § Hag
T HRar g

4, It does not develop power for critical thinking. / g g+ IEREKA ﬁm &Hdr fowRia :I—GrTEb—Q?IT
o

Correct Answer :-

« Itis purely individualistic in nature. / Ug W | ﬁ’sﬂ?&' ¥ Hfgdare) g

32) The Government can present demands in the middle of the financial year if
it feels that more money is required than estimated in the annual budget. / GYIPIR o
S aAH Ft HiTT (SHIUS) Ud B GPal § afe 39 @ & for arffe aore &
AT I 3P U B a=awar 21

1. Complementary / YIch
2. Need — based / STILIHAT-MMETRT
3. Mid — term / HEATATS

4. Supplementary demands / 3{JYIh
Correct Answer :-

« Supplementary demands / 3 UXPH

33) Which one of the following is not the nature of social science? / faffRad o=

AT fagme & upta T8 82

1. Study of man’s development through ages /Tﬁ B HI™ & fapr &1 1A

2. Study of human relationship / HIHd Tae o1 g
3. Unrealistic course of study / &Y D] Sryrdard! ureasmH
4. A unique combination of various subjects / A f¥Il BT Ueh 31T TS

Correct Answer :-

« Unrealistic course of study / &I b SYTaTdl ureusmH

34) Which one of the following is measured through CCE? / Fafafead 3 fea ?ﬂ?’-ﬂ'&c cg
HIH | AT ST 52

Page- 44



1. Physical and motor development of students only / had B BT ARING 3R AHRIB-Ga e
[EEZRN

2. Scholastic and co-scholastic achievement / Had m \3?|_\’ ﬂ%’-ﬁ% RLNIES

3. Co-curricular achievement only / Had He-UlogehH I |
4, Gradients of scholastic achievement only / HId Qe Iuafl & Id R-deld|

Correct Answer :-

« Scholastic and co-scholastic achievement / I ‘aﬁ(‘lﬁ 3ﬁ? ﬂ%’-ﬁﬁ;@ RLNIE

35) Which schedule of the Constitution prescribes a list of 18 functions to be performed by

the urban local bodies? / HIIUT &1 ford SFRE # e RITI a1l gRT fhg s
18 prat ot Jat et o as 82

1. 12th/ 12t
2. 9th / ot
3. 10th / 109F

4, 11t 7 119F

Correct Answer :~-

o 12th/ 1df

36) Which is the most suitable philosophical approach that is capable of inculcating absolute
values among students through the teaching of social studies? / & Capkl

SUgad
SIRIfF® RHIT 8 St AT sreaa & g1 & ureay I S & oS gl gl 3t
freRa s A gam 2

1. Realistic approach / gurfard} =i

2. Idealistic approach / 3{TGRIaTe! eV
3. Naturalistic approach / W E’@W
4, Pragmatic approach / aTIﬁETW %’f@ﬁw

Correct Answer :-

« Idealistic approach / JTeRiare! e

37) Which is the Lightest layer of the earth? / qu'ﬁ CARSGr: | B! URd CaCk:| %?
1. Lower Mantle / el (WTdR )ﬂEF‘[
2. Upper Mantle / $URT (YTGR ) Heel
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3. Crust / { JUCT (HUCa)
4. Core / IS

Correct Answer :-

« Crust/ Y TGt (YUTq)

38) Which of the following methods is capable of enhancing psycho-motor abilities of

students? / FATITET & § 31 ¥ fafts o 9 979 0ve amaneh o g 9 W& 3
1. Simulated method / Tﬁq fafe
2. Work experience method / Eap SI{Hd fafer

3. Lecture method / SRS fafe
4. Demonstration method / U?-‘?ﬁ fafer

Correct Answer :-

« Work experience method / Eap] S{JHd fafdr

39) Which of the following is not the educational objective in the teaching of social studies? /

Frafafaa o @ o arnfoe sreras & Rieor d Qe sera T8 82
1. Preservation of democracy as a value system / H{c JUITEH & 0 H aleca ol &0

2. Creating and maintaining democratic citizenship / AIh i ARG BT FAT0 HAT 3R
I B &

3. Conquering the territorial jurisdiction of neighboring countries / U‘eﬁ?ﬁ =N & PR & R
[CEERINERG]

4, Peaceful co-existence of people in this earth / S q?a°r TR QAN &l Q'I'IPCIEUf -3

Correct Answer :-

« Conquering the territorial jurisdiction of neighboring countries / m TN P SUPR 8T R
[CEERISERE]

40) Which of the following type of Agriculture is also known as Jhoom cultivation in India? /

fFrafafea ° 3 fra yor o1 i uRa & g0 @l & I 3 o S e g2
1. Primitive substance agriculture / 3{TfGH UHT’J?&[
2. Extensive substance agriculture / T4 U_C'J?fw

3. Extensive commercial grain cultivation / U Gl IS EEE IS EIRERI|
4. Mixed farming / fBT3d Wit
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Correct Answer :-

« Primitive substance agriculture / 3TfGH Wﬁw

41) Which of the following dynasty was ruling in India, when Alexander invaded India? /
frafofad & 9 o149 91 Ioasr YR # A $ 36T AT, 9 ey 7 HRd TR SHhH0T
fear?

1. Nanda dynasty / - 921

2. Shunga dynasty / ‘{ET CE
3. Gupta dynasty / Tt 9=1

4, Mauryan dynasty / o g9

Correct Answer :-

« Nanda dynasty / ¢ d%1

42) Which is recognised as one of the first environmental movements in the country? / &

< ¥ ugd yatavoity srigieal d 9 T & U H HIRId T 57
1. Chipko Movement / EECAEIFNE

2. Kisan Movement / {3 3figia

3. Lok Satta Movement / Tl Sl

4. Narmada Bachao Aandolan / ﬂ*—?dl ddl@rﬁ 31I*<1\IQ'1"I

Correct Answer :-

 Chipko Movement / ELCAIMNE

43) Which among the following is not a scoring tool to evaluate the quality of students? /

B 1 UET BT Gedied o3 & e FHafafa § S o9 a1 wifar Susvor gt 32
1. Rubrics / S{sh

2. Observation / Qb

3. Checklist / JePTeIE

4. Rating scale / HedTh BUiE]

Cdrréct Ahéwer - N N N

« Observation / 3fdciid=]
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44) Which among the following is one of the first commercial banks established in India? /

Frafafed 3 9 1 a1 yRd & Rifia vy aiitifre del A 4 T 32
1. State Bank of India / HRdTg WT §&

2. Bank of Hindustan / §& 3{t %w

3. Bank of India / S 3t $fea

4. Central Bank of India / @’i’ﬁ 355 3 E%EIT

Correct Answer :-

« Bank of Hindustan / §& 3{{t %'_{R'TH

45) Which one is not a characteristic of summative evaluation? / ﬁ";'l' ﬁ@' aﬁmﬂmaw
qei &1 U faRiwdr 181 82

1. Itis done on a continuum/gﬁwwéﬁ WWWWW%I

2. Knowledge of results is not possible / gfvorey &7 RIGESEE] :lngf % [
3. It is used for promotion / 3¥®T IUANT Had YR & forg fdar S 31
4, 1t is having a judgmental attitude / I8 TH 3fTeraHIHD 9T ST 3|

Correct Answer :-

« Knowledge of results is not possible / UROMHI &1 74 THd Tal % I

46) How many Tirthankaras are in Jainism? / ST & # foraa fidfez A2
1.24

2.4

3.34

4. 14

Correct Answer :-
. 24

47) Who were Manu, Narada and Brihaspati? / H, IR¢ Gﬁ?ﬁ?’\‘ﬂ'ﬁaﬁ? ?

1. Mathematicians of ancient India. / Ui HRd & T@IT‘I?‘H

2. Jain scholars. / oI fagH|

3. Gods of Vedic religion. / afee e & Sl
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4. Law givers of ancient India / UTEIH HRd & UTHDR |

Correct Answer :-

« Law givers of ancient India /EI'I’_:ﬂ:T YRA & AMIDR |

48) Deliberate reduction in the exchange value of a country’s monetary unit is termed as

: . | TH I @) Hifgw 313 & fafma geu § Sager 3 i o 3t PEl
SIGIEL

1. Depreciation / HeUgY

2. Revaluation / WW

3. Re-evaluation / J:- W
4, Devaluation / 3{dHcIT

Correct Answer :-

+ Devaluation / dHcd

49) National Rural Health Mission in India was launched on ./ Wﬁ?‘l‘@‘q
yTHior @R A= @i H 3= fopar T AT

1. April 2010 / 3%, 2010
2. April 2008 / 3f8d, 2008
3. April 2006 / 35id, 2006
4, April 2005 / 3fTd, 2005

Correct Answer :-
« April 2005 / 3{Ud, 2005

50) Which economic system shows both the characteristic features of capitalist and
socialist system? / @1 It 3T yummelt yehard! $fik gumerard! yumell &5t <Y fafkry fasivarsi
B gl 82

1. Planned economic system / fafora snfdfe gomedt
2. Command economic system / ﬁ%&ﬁ 3T ToTTert
3. Market economic system / SR 3 womert

4, Mixed economic system / oS snfdfes vomeRt

Correct Answer :-

. Mixed economic system / fHISd 3 ToTTeR



51) CANCELLED

Who among the following are not the women Presidents of Indian National Congress? /

Prafed & & S WRA TE Si %) A aee T 9
1. Kamala Devi Chattopadhyaya / HHATGA! a@tﬂ‘aﬂq

2. Aruna Asaf Ali / 3[SUT 3% 3t

3. Annie Besant / Q:ﬁ aﬁ_c.'

4. Sarojini Naidu / SRIFSHY ARG

Correct Answer :-

« Kamala Devi Chattopadhyaya / CLGIEE] a'g'ltl k22| E]

52) Which legendary Sufi saint of Chishti order was popularly known as ‘Chirag-e-Dehlavi

(Chirag of Delhi)’? / Foret TrawaT & forey uRieg Yt ¥a & «“RRTT-u-dgad! (et @1
FRRTTy” & AT & ST 4T 412

1. Abu Ahmad Chisti / 3§ 3[gHg for=dl
2. Shaikh Nasiruddin Mahmud / 29 e Heqa

3. Qutbuddin Bakhtiyar Kaki / Sg, - SIRKTIR DIbI

4. Nizamuddin Auliya / FTHE sfiferar

Correct Answer :-

« Shaikh Nasiruddin Mahmud / ]G 7158 14 H8HG

53) Which ruler shifted the Ashokan Pillars from Topra and Meerut to New Delhi? / Ea]

S A SR 3R AS T 3= THl &) 8 el & wur=iafd fear

1. Balban / dcfd-

2. Muhammad Bin Tuglaq / 98¢ foH qTeie

3. Giyasuddin Tughlaq / W:T UINED
4. Firoz Shah Tughlaq / IFRSRUR GUGED

Correct Answer :-

« Firoz Shah Tughlaq / TSI <18 UNES

54) Kavi Vatsal was a title assumed by which Satavahana king? / “Hid TTA” Udh I
P AraaTe= Yo gRT Hicud 412

Page- 50



1. Yajna sri satkarni / Y31 ot Fepolt

2. Vasisthaputra Pulumavi / 9RISY GHa!
3. Hala / @Il

4, Gautamiputra Satkani / Tﬁ?ﬂﬂ% e ulf

Correct Answer ;-

o Hala /@Il

55) International Network of Bamboo & Rattan (INBAR) is located at? / S 3R 9 &1

SRt Yead METTa) T8 w R 3
1. Colombo / BIcia

2. Guwabhati / ‘JHIE'IEP[

3. Beijing / SO

4, Dhaka / GIpI

Correct Answer :-

« Beijing / SIS

56) Which of the following strait separates USA & Russia? / Fufafea A Qs

STl SN 3R T B S Fcll 572
1. Bering Strait / CIRURSEEIR]

2. Semiostrovskiy Reid / @ﬁiﬂw e

3. Fram Strait / Y18 STCTSi{el

4. M’Clure Strait / Q’qw ELLIES

Correct Answer -

« Bering Strait / CIRURSERIR]

57) ‘Silent Spring’ is an important book published in 1962. It documented the adverse effect
on the environment by the indiscriminate use of the pesticides. Who is the author of this

book? / ‘WTgde fBAT, 1962 T ST TP Wga@yUl T ¢ | I PICARIDI & SHemee
SUERT | TafaRu 1R USH aret ufadpd YT & IR A forar 81 39 T8 & a9® B 82

1. Annie Dillard / Q:ﬁ fears
2. Virginia Arthur / goifar emiR
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3. Kathryn Miles / BRI A
4. Rachel Carson / A B

Correct Answer :-

« Rachel Carson / MBI Eb—ﬁ:f

58) Which among the following states is built the Bharat Bangladesh Moitree Udyan? /

fraffea 3 & fea Toa 3 URa s #50 Sae s 82
1. West Bengal / BB RSO

2. Tripura / ﬁTEBT

3. Meghalaya / YT

4. Nagaland / ATTICIS

Correct Answer :-

 Tripura/ I%gﬂ

59) Anemometer is used to measure which of the following. / fafsada fFa A &
fore THIeR &1 SuahT feur ST g1

1. Wind Velocity / Udd T
2. Wind Direction / Td+T &1 fG=TT
3, Humidity / 3{TSdT

4. Air Pressure / dIg qld

60) Falkland Island is a disputed territory between? / BHipas giv fpae ag Udh faarfea
aag?

1. West Indies and Spain / aESTCﬁW 3?[? RaE]
2. Uruguay and France / 37 3R W1

3. Chile and Ecuador / foeft 3R W@T

4, Argentina and UK / 3T 3R @’7

Correct Answer :-

» Argentina and UK / 3O 8k 1{@'7
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